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a(b+c)=ab+ac
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a(b—c)=al[b+(-c)]
=ab+a(-c)
=ab-ac
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(a+b)(c+d)=ac+ad+bc+bd
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(a+b)(c—d)=(a+b)[c+(d)]
=ac +a(-d) + bc+ b (—d)
=ac—ad + bc—bd

(a=b)(c+td)=[a+(b)](ctd
=ac +ad + (-b)c + (-b)d
=ac + ad—bc— bd

(a=b)(c—d)=[a+(-D)][c+(-d)]
=ac t+a(-d) + (-b)c + (-b)(-d)
=ac—ad—bc + bd
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3(2x+3)=3x2x+3x3
=6x+9
(3x—1)x(-4)=3xx(-4)—1x(-4)
=-12x+4
(Bx—5)(x=-2)=3xXxx=-3x%x2-5xx+5x%x2
=3x2-6x—5x+ 10
=3x?-11x +10
L dee

X2+4x =xxx+x x4
=x(x +4)
a’b—ab’=ab xa—ab X b
=ab(a-b)
X(x+2)—x-2=xx+t2)—(x+2)
=(x+2)x—(x+2) x1
=(x+2)(x—1)
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(a +b)?=a’+ 2ab + b?
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(Ax+3)=(tx)yr2xtixzts
2 2 2
“Lets+9
4

@ dlas ) A )




@ dlas ) A )
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Ix?+ 12x +4 = (3x)? + 2x3x*x2 + 2?2
=(3x+2)?
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{ (a—>b)>=a’-2ab + b’ J
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(x—35)?=x7-2%xx%x5 + 52
=x?-10x + 25
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xX2-4x +4=x2-2Xxx2 + 22
=(x—-2)?
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(a +b)(a—b) =a’-b?

oy 5 il
(2x + 35) 2x—~5) = (2x)* = (4/5)?
=4x’=5
b L Jae

9y 16= 3y — 47
=Gy+4)(3y—-4)






